2021 F MM Y X T LRFERE 3 F XA T (— M) A SR A

(1]
x>0 IZBITFA2ROBEEI (x)x%5x25 L%, LTFORWIEZ XK.

I(x)=["ett*tdt
(1) r@) offizR k.
(2) T'(x+1) =xI'(x) &Rt
(3) n DNEEOEHTHDHEX, T'(n+1) =n! Zait.

(4) WOBHOMHT 2RO L. 2b, [Jedi="T Ths.
I=f Vze Zdz
0

[[52]
1 —-11 7

EHT8] A =[o 8 —11] IZHOWT, LFOWE X X.
1 —4 -3

(1) 4751 A DHATH A~ 23R L.

x—1ly+ 7z =1
(2) 1741 A DWATH| A~ % fifi > TS — R R 8y —11z =2 Z%fiRlT.
x—4y— 3z =3
x—1ly +7z =1
(3) ML —RFFEX { 8y — 11z =2 RN 1METOMELHOLE, allBAT 5
x—4y+(a—3)z=3

SR I, 2L, aldFEEET5.





